AP® MICROECONOMICS
2013 SCORING GUIDELINES

Question 2

bpoints(1+2+1+1)

(a) 1 point:
e One point is earned for stating that PieCrust should choose to advertise because it makes
greater profit by advertising: $250> $180.

(b) 2 points:
e One point is earned for stating that LaPizza does not have a dominant strategy.
e One point is earned for stating that its best choice depends on the strategy chosen by
PieCrust. When PieCrust advertises, LaPizza does better by not advertising ($300>$200);
When PieCrust does not advertise, LaPizza does better by advertising ($500 >$400).

(c) 1 point:
e One point is earned for identifying the daily profit for PieCrust, $450, and for LaPizza, $300.

(d) 1 point:
¢ One point is earned for reproducing the payoff matrix to reflect the effect of the increase in
advertising costs.

LaPizza
Advertise Not Advertise
Advertise $190, $140 $390, $300
PieCrust
Not Advertise $180, $440 $390, $400

© 2013 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



2/

‘ Vo |
ANSWER PAGE FOR QUESTION 2 \ /‘t

03 I-f LaFTZZa Aoes Jo  adverdse Aa Pia(rusf 543,#

A Le. , T i is becavse £ La Pizza adversses f,’xz,(ruff
A 1—7/{&/ C«J‘/lf 7’7‘5& mJ— g ée é‘;;a ol Aot zzl-uef-}ffe_ =, S
ke 5){0 $350 > $lgo . So f;e.é’vf;l A, L ‘,Jvd‘#'!e_

la) | Prazy does st lave o 444,,;@7" eheqy- Hs ;3
becue f  PieCrocd addaidge labizs, .J/ﬂg‘,‘,/é/ ot
e Lse | be ¢ use $300 > 5200, Yé{ 23 Pras oz
J,,q not adver bise thas Lo p; 22, Shou | A

-aA\J-rva'S-e, l?aéku«(e 52500 > $"/00_ //an, La}ﬂfzm
W'V/J & ot ; C[Lﬁ-ﬂ;ﬂ["'{;f /L O € 54‘47?}’7 Ao 2P "—z,./ﬂ‘?[
p?c Cr./f% ¢L¢§, se Ple 7 ae Joay'},@% e 7[37:/_

é} .. Pie Crost oL.'/?, ',,',,_f,l = 35‘/50

[ LoL P;z24’5 cL» {y prpl._'—# = $300

=

LCL loTZ Z o

Aver bise Na.*f’ /}JJU-L‘Se

Mookse | P90, %140 | 3390, $300

Ree. Lrogh ——
Mot Alerse | 3180, $440 | 5390, P00

1

GO ON TO THE NEXT PAGE.
71~
© 2013 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



2B
\‘;’f\\,'\

ANSWER PAGE FOR QUESTION 2

A Te LaPoza @ were 4o rolverting, Precrust shode) odvarties o
well, T bath Tirms werw fo mvenwe.P\ecer would make 9250
08 WA o 4140 ¥ Bolrust om0 *b chepre not 10,

\@ Lofizza ob@m\* hove AO})m\ﬂa/n‘\’ d‘(m’f?a\n £ —ﬂv@v wele 4p
choose QQTWEm The +\f\@aPD°Cﬂ)‘1(r mul() Y”)m/(sv ATy r’h@/)Qv \\f*‘f‘f/tpy
neVeriisen)s T4 Lo\(),zza wtie S Koo Hhat Foc rat sl o dvard: 56,
Fhele- Oy choke 15 B not adveNlee th qunlée mre gy

AC‘
(1) §29°
(] §H00
i
/OL(P( O"
. Mdaptice Not Adveriise
o elbue 4l 19300, daao //
HeGs—1— e
N / i fan A n frr /
Aertise // e, ﬂ"”U )I 2910 /

GO ON TO THE NEXT PAGE.
“11- '

© 2013 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



2 C
ANSWER PAGE FOR QUESTION 2 IA (
0) 1§ LaPiz2d ohadsed tn adveatist,, Pieliuss smwm;m cnonse
to ddverhse as it waudd, mMarke $ 250 da Ly @Dmhh with
st isinng Ay than $180 wikhaat adh /@VHM/Mﬁ

b) UAPizza's daminamnt shadeay woudd, e & il oL
adae s, becadse it wolnddh make dmm $ w00 o £300,
whith woltddr be Leer hak $200 %

o) NS wgwililborLiam,
L) PleGHUASTY daily profit $290

1) Lapizza's (m/i\\/ profit § 400

d) |f ﬂ&lvmﬁdtmg 005t S0 poy Ay

La Pizza

adverfise |[not AT Fse
PitOIUSE  advertise | $110,6140 $390, $240 |

nf}gfmw\_zo $yyo  |$330,8840 |

1t these m-gm miorunmg LOSES Went, [

AT

Pie O rust wWowld, notadver fise,

La Pz wowldr ot advertise,

y GO ON TO THE NEXT PAGE.

© 2013 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



AP® MICROECONOMICS
2013 SCORING COMMENTARY

Question 2
Overview

This question determined students’ understanding of some aspects of game theory. Part (a) tested
students’ ability to use a payoff matrix to determine the best decision for one player on the basis of another
player’s decision. Part (b) determined whether students understand the concept of a dominant strategy.
Students illustrate their understanding by indicating dollar values in the payoff matrix. Part (c) tested
whether students could identify a Nash equilibrium. Part (d) determined whether students can redraw a
payoff matrix to show the effect of changes in some of the payoffs.

Sample: 2A
Score: b

The student answers all parts of the question correctly and earned all 5 points.

Sample: 2B
Score: 3

The student did not earn 1 point in part (b) for failing to explain, using the dollar values in the payoff matrix,
why LaPizza does not have a dominant strategy. The student did not earn 1 point for part (c) for incorrectly
determining the daily profit for PieCrust and LaPizza in the Nash equilibrium.

Sample: 2C
Score: 1

The student earned 1 point in part (a) for correctly explaining that PieCrust should advertise since
$250>$180.
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